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A cone is [0 made by cutting a sector out of a circular piece of paper
and fastening together the seams of the resulting piece. The radius of
the circular paper is 1. Find the arc of the sector that is cut out so
that the volume of the cone is 0.25.
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= Define v(z) = tnr?h Done

« Solve(l —r? = h% h)

h=—y/—(2=1)andr?*—1=0;;0rh =/—(r2 —1)andr> -1 <0

 /—(r2=1)—>h —(r? —1)
— — —(@=2m)

» solve(2w — x = 27r, 1) ==
—(z—2m) —(z—2m)

. 2m - 27
T2 —x(x—4m
) ( ) v ( )
» solve(v(z) = 025,z)|z < 27 x = 2.948 or x = .2084
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» define yl(z) = v(z) done
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